

## Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$26,671,774.58	\$24,654,667.47
Contributions	\$464,700.00	\$1,601,529.33
Withdrawals	(\$130,000.00)	(\$521,000.00)
Transfers In/Out	\$0.00	\$0.00
Income	\$20,167.17	\$70,665.35
Administrative Expense	(\$364.64)	(\$2,064.89)
Investment Expense	(\$583.29)	(\$5,505.79)
Investment Manager Fees	(\$30.29)	(\$940.03)
IFA Loan Repayment	\$0.00	(\$19,522.75)
Adjustment	(\$1,017.64)	(\$1,017.64)
Realized Gain/Loss	\$86.53	\$9,997.24
Unrealized Gain/Loss	(\$378,646.30)	\$859,277.83
Ending Balance	\$26,646,086.12	\$26,646,086.12

## Performance Summary:

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.83%	N/A	N/A	N/A	N/A	2.13%	09/01/2022

Contact Information: Illinois Police Officers' Pension Investment Fund, 456 Fulton Street, Suite 402 Peoria, Illinois 61602 Phone: (309) 280-6464 Email: Info@ipopif.org

## EDWARDSVILLE POLICE PENSION FUND Fund Name: Transition Pool Month Ended: May 31, 2023



## Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$886.36	\$51,531.91
Contributions	\$0.00	\$0.00
Withdrawals	\$0.00	\$0.00
Transfers In/Out	(\$871.30)	(\$53,668.82)
Income	\$3.52	\$65.24
Administrative Expense	\$0.00	\$0.00
Investment Expense	\$0.00	\$0.00
Investment Manager Fees	\$0.00	\$0.00
IFA Loan Repayment	\$0.00	\$0.00
Adjustment	\$0.00	\$0.00
Realized Gain/Loss	(\$17.70)	\$1,660.51
Unrealized Gain/Loss	(\$0.88)	\$411.16
Ending Balance	\$0.00	\$0.00

## Unit Value Summary:

	Current Period	Year to Date
Beginning Units	97.683	5,901.931
Unit Purchases from Additions	0.000	85.982
Unit Sales from Withdrawals	(97.683)	(5,987.912)
Ending Units	0.000	0.000
Period Beginning Net Asset Value per Unit Period Ending Net Asset Value per Unit	\$9.073836 \$0.000000	\$8.731284 \$0.000000

# Performance Summary:

#### EDWARDSVILLE POLICE PENSION FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	09/28/2022

Contact Information: Illinois Police Officers' Pension Investment Fund, 456 Fulton Street, Suite 402 Peoria, Illinois 61602 Phone: (309) 280-6464 Email: Info@ipopif.org

## EDWARDSVILLE POLICE PENSION FUND Fund Name: IPOPIF Pool Month Ended: May 31, 2023



## Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$26,670,888.22	\$24,603,135.56
Contributions	\$464,700.00	\$1,602,296.49
Withdrawals	(\$130,000.00)	(\$521,000.00)
Transfers In/Out	\$871.30	\$52,902.02
Income	\$20,163.65	\$70,599.75
Administrative Expense	(\$364.64)	(\$2,064.89)
Investment Expense	(\$583.29)	(\$5,505.79)
Investment Manager Fees	(\$30.29)	(\$940.03)
IFA Loan Repayment	\$0.00	(\$19,522.75)
Adjustment	(\$1,017.64)	(\$1,017.64)
Realized Gain/Loss	\$104.23	\$8,336.73
Unrealized Gain/Loss	(\$378,645.42)	\$858,866.67
Ending Balance	\$26,646,086.12	\$26,646,086.12

## Unit Value Summary:

	Current Period	Year to Date
Beginning Units	2,675,093.436	2,594,209.576
Unit Purchases from Additions	46,897.805	167,551.573
Unit Sales from Withdrawals	(13,196.929)	(52,966.837)
Ending Units	2,708,794.313	2,708,794.313
Period Beginning Net Asset Value per Unit	\$9.970077	\$9.483855
Period Ending Net Asset Value per Unit	\$9.836881	\$9.836881

## Performance Summary:

#### EDWARDSVILLE POLICE PENSION FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.83%	N/A	N/A	N/A	N/A	9.75%	10/21/2022

Contact Information: Illinois Police Officers' Pension Investment Fund, 456 Fulton Street, Suite 402 Peoria, Illinois 61602 Phone: (309) 280-6464 Email: Info@ipopif.org

# Statement of Transaction Detail for the Month Ending 05/31/2023

## EDWARDSVILLE POLICE PENSION FUND

Trade Date	Settle Date	Description	Amount	Unit Value	Units
Transition Pool					
05/25/2023	05/26/2023	Transfers Out	(871.30)	8.919671	(97.6829)
IPOPIF Pool					
05/01/2023	05/01/2023	Emerging Market Debt Adjustment	(1,017.64)	9.970079	(102.0694)
05/12/2023	05/15/2023	Redemptions	(130,000.00)	9.927560	(13,094.8592)
05/12/2023	05/15/2023	Contribution	464,700.00	9.927560	46,809.0850
05/25/2023	05/26/2023	Transfers In	871.30	9.820810	88.7198